= 0o & W= A
SIHAT 2008
olatE - =3 1 3
SA-HH O AR DS O] At oM J1E Ol AkoK Hns2 dE 2N
=R | 94,551,004 68,432,832 26,118,172
WEHF 94,551,004 68,432,832 26,118,172
CTADNEAYS 243 92,375,463 66,828,384 25,547,079
O - SFESXNSAHSSAL RS 92,375,463 66,828,384 25,547,079
HICHEABAZ(ER) 154,164 155,077 A913
301 LetEAS 154,164 155,077 A913
154,164 155,077 A913[12 JIEtE A2 A913
OENCH cABAZ(Z22)(BY)
2 154,164,0002 - JI& 155,077,000 = A913
(= 3 47,050 I 48,047] [= A997]
(2 33 22,114 J| & 20,176] [& 1,938]
(Al B 85,000 2| & 86,854] [A A 1,854]
CIES= = 81,486,014 59,906,000 21,580,014
101 Q124H| 3,538 0 3,538
3,538 0 3,538|10 JIZtMZ2XSE% 3,538
ORIIEZXZ X3 dREX 3,538
-0l 32,4002 x 1% 100 = 3,240
-AEE JpReE 3,240,000 *9. 185%= 298
307 2I2t0lA 81,482,476 59,906,000 21,576,476
81,482,476 59,906,000 21,576,476 |09 2+LHEEZ 21,576,476
ORZHMAE(FHA)UAZ B ANLEXNSIUHEES
22X 81,482,476,0008 - JIE 59,906,000,0008 = 21,576,476
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02 4T

2 HSNSUSLMT 2 (2e-ag)
2 o oI ofleres HRS2 &8 2
2,966,419 3,066,419 £100,000
101 AlEBI 2,940,799 3,040,799 £100,000
2,900,000 3,000,000 £100,000{04 Al £100,000
OHARZNAR(BIS) 22 AR (E)
H 2,900,000,00021x141 - JI& 3,000,000, 0002 £100,000
2 4,169,050 1,425,550 2,743,500
S 206,050 124,550 81,500
206,050 124,550 81,500 (12 DlEiw a3 81,500
ORENE NE22E
ZT 1,002 528,000 +2.5/ 100450/ 100x3652 ~ O
& 91,250, 00021 36,500
OmEINE YUY N
247 1,500%+50,00004 ~ I 30,000,0008= 45,00
21210/ 3,939,000 1,277,000 2,662,000
3,939,000 1,277,000 2,662,000 (00 2HeHZEZ 2,662,000
OL N0l 2 AU~ 4w A3
500,000,000 »1A1= 500,00
OREINCOIBT 23O AN
27 50%+28,0002x3652 ~ JI & 365,000,0008= 146,009
OSINAS0l IE SIILES  500,000,0008x14l= 500,00
OBYWEZD £4LHI  1,516,000,0008+141= 1,516,000
EHANBRA(2E 2,083,518 1,229,040 804,478
2,083,518 1,229,040 804,478
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2 A DEsE
e e (S5 &d)
SA - EB O MR B Ol 4 o I ol 4o HRE2 &z 2
2,033,518 1,229,040 804,478 |12 JlErE A 804,479
Oseg#s 9x3 1,00021%5, 0002 ¥1502= 750,000
OAUL 2 SOIEHA WET(E2H)
2% 1,283,518,0002 ~ JIE 1,229,040,0008I= 54,479
(2 2% 641,759 J| & 614,520] [ 27,239]
NEE 641,750 J| & 614,520] [Al 27,239]
SAIE BB AIE AL (2 ) 966,298 846,208 120,000
307 Q12H0I & 20,000 0 20,000
20,000 0 120,000|02 DIZFAAEZE 20,000
OSAISET 1=t 20,000
=H(-RE, HEO HE)
40,0002 %3, 750 B0/ 100= 120,000
402 PIZHTH= 0| ® 800,800 800,800 0
800,800 800,800 olor oizm=wx a
OB AIE S 3 Al AT
245 800,800,0002 — J1E 800,800,0008= a
[c 2% 90,000 I 200,000] [£  A110,000]
NEE 710,800 J1 & 600,800] [Al 110,000]
Do AT 250,000 0 250,000
402 PIZHTHE 0| 250,000 0 250,000
250,000 0 250,000 |01 PIZFTIEEE 250,000
OLMHHAIS BEHA 7o
50,000, 000 *50/ 100+ 10CH= 250,000

3/6



02 4T

2
2k
JE = 0
o

ra
10

ra
o

I
X
0

>:-|:|

01' Al OH

(il

Hlns2

[e=
1]

ry

H

0
0
£

SX&

[uins

150,000

150,000

307 212+0I &

150,000
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150,000
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150,000

150,000

02

59,595

AN 15,453
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6,064 1H+27 Al 2t+52%1.018 - JIE 2,166,00

08l=

Z & 680,000& - JIE 960,000&=

23 2,210,000& - J1& 3,120,000&=

,642,00024 1B =17/360 - J1& 1,618,000&=

A 1,543

A1,263

A1,263
A 280
A 280
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A910
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o N DEHID
N oM MESEAH(DEED) Col . ol
O 9 olESAH(DEHEDL) 2o EE)
e T 01l abo INE o arou HDS2 o= 2
OFMeIH ot ("2} 3)
A& 27,000,000 %12 %17/360 - J1& 1,425,000 = A 150
46,293 57,642 AN11,349108 JIEIE B4 A 11,349
ODEFSH (MR "(}'3)
23 34,850,000& %1 - J| & 30,642,000 = 4,208
ODEMSH (MR "2 D)
AXA 27,462,000 x1H*5/12 - J|A 27,000,000 = A 15,557
204 X243 A Y| 2,560 3,540 A 980
2560 3,540 A980|02 mZEEH| 980
OHSX MB=xb|("2'E)
AT 140,008 <1258 - J1 T 1,680,008 980
EA0HS2AY| 850 1,200 A 350
204 XA H| 850 1,200 A 350
850 1,200 A350(03 EXFYRLsESH| A 350
OHoEx CHoI S| (", 2 2)
A& 850,000& - J1& 1,200,000 = A 350
MRES 2,115,946 1,529,400 586,546
LHEHH X = 2,079,400 1,529,400 550,000
JlErE AR ED 2,079,400 1,529,400 550,000
701 JIEISIHNE == 2,079,400 1,529,400 550,000
2,079,400 1,529,400 550,000 101 DJIEtSIHE =2 550,000
OGADEAYESS Y A5
2 & 750,000,000 - J21& 200,000,000 = 550,000
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= nEHI Y
)él X —Cll—%% =R =TI IE=]]
K= (A2 &)
- A e - R - = Ofl &+ 2K JIE O Ates Hlns2 &E2 A
36,546 0 36,546
36,546 0 36,546
gtet= D1 E 36,546 0 36,546
36,546 0 36,546 |01 =2 XZEtEZ 36,546
Q20073 M EStSX s HSEHWX XI2AAS
36,546,000& = 36,546
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